N(=a—F+Y) oD @
HER ey /60

55X12 60

ZRICBFEANMMTREERTIEEL &5,

m 8 Kg —> 8000 g —-> 80 N

KgxX1000=g g~ 100=N

400 g -» 4 N

g +100=N
T Kg > 70 N
KgX 10=N

@1 4,2 Kg - 4200 g > 42 N

Kgx1000=g g+ 100=N

350 g -» 3.5 N

g = 100=N
2 Kg > 20 N
KgX 10=N

G115 Kg - 15000 g = 150 N

KgxX1000=g g~ 100=N

70 g > 7.8 N

g = 100=N
1.2 Kg = |2 N
KgXxX10=N
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N(=a2—F>) D @

BXH =33 /60

5mX12 360

ZRICBFEANMMTREERTIEEL &5,

9 Kg -» 9000 g - 90 N

200 g - 2 N

5 Kg »> 50 N

21 3,6 Kg > 3600 g - 36 N

2600 g - 24 N

0.8 Kg — g8 N

G |  Kg - 1000 g = 10 N

50 g > 0.5 N

0.12 Kg = [.2 N

ZOT) U MEEK S O— RTEET, https://monomanabi.co




N(=a2—F>) D 3

BXH =33 /60

5mX12 360

ZRICBFEANMMTREERTIEEL &5,

m 4 Kg - 4000 g - 40 N

800 g » 8 N

3 Kg—> 30 N

2 2,8 Kg »> 2800 g = 28 N

450 g - 4.5 N

.8 Kg = 18 N

1 0.4 Kg > 400 g - 4 N

7% g = 0.7 N

.6 Kg = 16 N

ZOT) U MEEK S O— RTEET, https://monomanabi.co




N(=a2—F>) D @

BXH =33 /60

5mX12 360

ZRICBFEANMMTREERTIEEL &5,

m 7 Kg - 7000 g > 70 N

120 g =» [.2 N

2.5 Kg » 25 N

21 6,5 Kg > 6500 g - 65 N

1250 g > 12.5 N

0.85 Kg > 8.5 N

6Bl 55 Kg » 5500 g —»> 55 N

I8 g —> 0.18 N

32 Kg - 320 N

ZOT) U MEEK S O— RTEET, https://monomanabi.co




N(=a2—F>) D ®

BXH =33 /60

5mX12 360

ZRICBFEANMMTREERTIEEL &5,

m 9,2 Kg » 9200 g » 92 N

860 g —»> 8.6 N

0.07 Kg - 0.7 N

(2] 5 Kg —»> 5000 g —-> 50 N

550 g -» 5.5 N

0.2 Kg - 2 N

G116 Kg — 16000 g - 160 N

140 g —-> 1.4 N

8.4 Kg -» 8 N

ZOT) U MEEK S O— RTEET, https://monomanabi.co
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